
1t:t) 

a 



f..J ~')-.....\ -..l ~ ~ 1. ~ ~ 
o=- lit+s ~- cc..+{g::: Itt -~-~~ -i~ -!~;< 

~ 

--:'/ft.t \ lb I 
1 =" 1 "0-1 =It! 

/J,oc t.2.~ c4r 1/c lc.. 'fo/ t" Jvt vss J(e.-cZ (ui S e.: . 

~) I ( :x ~) f.l ( 4 X t)f 

- ~ ~t). {r:)(tJ =(~ ·~)(({)- ( l~t)(~.t) 

:#~~ 
-t 

-:::::.) 

1~/tJt • = ct.Q.J rttJ- ~ .tJ'l. 



J ..l l (-1) 
~-c-= 1. 

~ 

t.~= l.t-2+'3=- 13 

l·t::' Lff.IJ+3 = #':f 
~ .i 

161= 114
7 fc7:::.!? 



Lt) 

5"1 a-) ~~ 

6) ~ 
-a.. 

c-) "" ~ 1-b 
~ 

d) -~ +6 
eJ 

~ .J .s: -S~ y = c- C(. -c/ +b = ~ .1 ...l 
-ct +~+ (, -J 

oJ ). ( t-/. 2l) 
..l. 

h) -a, - 16 = - l ( 4 -~-t) 

~ 

b ~) ~ ·b = -2 - 1 ::. - :s 
~·t::: -1-1 = 0 
~ 

£ . t :: -2 -1-1 + 1 = 0 

b) t&J=/1} 1/J= f67 ttt-=-13' 

£(~£):; ~ ( -? )= 1, 62 
G'(i1 

£.(~,t)-:; ~ { ~ ) = 'If 
L ct~zJ= ~ (o J =:; 

c) a_.t- /~/It I t"v> f 

-1 
2 



1 a.J (;:, 4) {a - t) = (~ +tJ ( ~ -1- (-l}) 

= ( ~ ft J ~ + (: +l) {- t) 
= ~; -J. t ~ .f. i~!J + te-tJ 

~ /l ~ ~ ..) ~ I..J./2 
- I a + !, (), 4 - 4 t -1~ 

~ ~ 

-:: o.l - 2. ::t -1- t 

-c. u~f~L 



r;~ G_Om £ = ( ~bJ 

-~ c = tdt :: {1.s-J:: t~) 

tC:I = ~ f¥ -1~ lt!==f t:t= ~R -/bl = =- l -.. ft 2 

\ 

....1 ~ 1'i"" -l ~ 2'"" -!,) t- -- t<.·C - -a.. -
2 2 



~ _ t J ( ~ -t ) -= 1 + 6 = 8 
...l 

~ -t )C (-~} = -2 -1- ( 2) -=- o -="/ redl-w.~-.LCr 


